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; 100kN/mZ#8% % - -~ -|3mEEZS - - -| 100kN/ Mm% 2% - -~ -|3mEHERS -~ -
Zhst 1.00) 000 ~ 456 56.82 | st | 0.00 456 | 1.90 10.15 Zhst 1.00 | 500 ~ 500 56.82 | #nLlst | 500 ~ 5.00)| 1.90 10.15
2 100kN/mZ#8% % ~ -|3mEEZS -| 100kN/ Mm% %% ~ -|3mEHERS ~
Zhst 1.00) 000 ~ 536 66.86 | Tnilst | 0.00 536 1.98 10.60 Zhst 1.00)5.00 ~ 655 66.86 | Tnhist | 500 ~ 6.55 | 1.98 10.60
3 100kN/mZ#8% % ~ -|3mEEZS -| 100kN/ Mm% 2% ~ -|3mEHERS ~
Zhst 1.00)| 000 ~ 453 56.51 | Enst | 0.00 000|157 8.39 Zhiist 1.00 500 ~ 500 56.561 | #nLlst 500 ~ 500|157 839
4 100kN/mZ#8% % ~ -|3mEEZS -| 100kN/ Mm% 2% ~ -|3mEHERS ~
Zhst 1.00) 000 ~ 475 59.15 | Fhst | 0.00 4751 1.79 9.56 Zhst 1.00 500 ~ 500 59.15 | #nLlst | 500 ~ 500|179 9.56
5 100kN/m%#8% % ~ -|3mEEZS -| 100kN/ Mm% 2% ~ -|3mEHERS ~
Zhst 1.00 ) 0.00 ~ 553 69.08 | Enilst | 0.00 553 1.99 10.66 Zhst 1.00)5.00 ~ 690 69.08 | Thist | 500 ~ 6.90 | 1.99 10.66
P 100kN/mZ#8% % ~ -|3mEEZS -| 100kN/ Mm% 2% ~ -|3mEHERS ~
Zhst 1.00 )| 0.00 ~ 606 76.03 | FnLst | 0.00 6.06 | 1.83 9.78 Zhst 100|500 ~ 7.05 76.03 | TS | 500 ~ 7.05| 1.83 9.78
- 100kN/mZ#8% % ~ -|3mEEZS -| 100kN/ Mm% %% ~ -|3mEHERS ~
Zhst 1.00 ) 0.00 ~ 530 66.13 | Thilst | 0.00 0.00| 1.59 860 Zhst 100|500 ~ 6.09 66.13 | Thist | 500 ~ 6.09 | 1.59 8.50
g 100kN/mZ#8% % ~ -|3mEEZS -| 100kN/ Mm% 2% ~ -|3mEHERS ~
Zhst 1.00) 000 ~ 477 59.43 | st | 0.00 0.00|1.70 9.08 Zhist 1.00 500 ~ 500 59.43 | #nLst | 500 ~ 500 1.70 9.08
9 100kN/mZ#8% % ~ -|3mEEZS -| 100kN/ Mm% 2% ~ -|3mEHERS ~
Zhst 1.00) 0.00 ~ 529 65.91 | Thist | 000 529|182 9.75 Zhst 100|500 ~ 581 65.91 | Thist | 500 ~ 581|182 9.75
0 100kN/mZ#82 % ~ -|3mEEZS -| 100kN/ Mm% %% ~ -|3mEHERS ~
Zhst 100|000 ~ 454 56.58 | Enst | 0.00 000|157 840 Zhst 1.00 500 ~ 500 56.68 | #nLlst | 500 ~ 500|157 840
100kN/m%#82 % ~ ImEBZD 100kN/MZEHEZ 5 ~ ImEBAD ~
Zhst ~ Zhllst Zhst ~ Zhllst ~
100kN/m%#8% % ~ ImEBZD 100kN/MZEHEZ 5 ~ ImEBRD ~
Zhst ~ Zhllst Zhst ~ Zhllst ~
100kN/mZ#8% % ~ ImEBZD 100kN/MZEHEZ 5 ~ ImEBRD ~
Zhst ~ Zhllst Zhst ~ Zhllst ~
100kN/mZ#8% % ~ ImEBZD 100kN/MZEHEZ 5 ~ ImEBRD ~
Zhst ~ Zhllst Zhst ~ Zhllst ~
100kN/mZ#8% % ~ ImEEZD 100kN/MZEHEZ 5 ~ ImEBRD ~
Zh s ~ Zhn st Zh s ~ Zhn st ~
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